L iﬁ w ﬁ Y/ /4 FI‘J us% iz—ll

BRESHEHE 1.0k

Vision®f{$iEsk
X-Line LIGID

1.0 = @mitR

1.1 HH
. DN65-DN200/30D-8 "

1.2 EiE
« SCH10, SCHAOM AN S, Fl T HoAth A i S BE S i1, il b
D o

1.3 RKTEEA
« £ F%5%2.5Mpa(25bar)
o TAER VIR T B8 5, R SR T8 A

1.4 ThEk
o EFRAREEE, BB ], VAR £ GB5135. 11K S A X AWWA C606
o PROLWIMEIERE, BLE A B AL RS

2 AiE
3 MR

3.1 4h5E. EREGEN 2 GB/T 1348, J5-QT450-12

3.2 REBRE (k)
O ARt FRE Mg
o HEe:

3.3 BHE:

« EPDM (=JCZW) : EHTFAK. #ok. 9. Lh=R, &HEE-40CE125C
« EZEHBAM, HEw R

3.4 124

o RN T A NS, HBEE
« GB/T3098.1, 9.8%

3.5 12§
o PR E RS R, HE
« GB/T3098.2, 8%

©

VISION 021-5954-6666



L & S R
DS-1001
BRESHEE 1.05%
Vision®RIf#ES
iIsion ~
=
X-Line LIGID
PA3
4148
4.1 SCH10FISCHA0NE
LR SCRRAME uL FM THBTAE
mm mm sch.10 Sch.40 Sch.10 Sch.40 z
psi psi psi psi
Inches Inches kPa kPa kPa kPa MPa
bar bar bar bar
65 76.10[1] 300 300 300 300 25
2067 2067 2067 2067
30D 3.000 20.7 20.7 20.7 20.7 25
80 88.9 300 300 300 300 25
2067 2067 2067 2067
3 35 20.7 20.7 20.7 20.7 25
100 108 .00[4] 300 300 300 300 25
2067 2067 2067 2067
4%0D 4250 20.7 20.7 20.7 20.7 25
100 1143 300 300 300 300 25
2067 2067 2067 2067
4 4.500 20.7 20.7 20.7 20.7 25
125 133.000 300 300 300 300 o
2067 2067 2067 2067
5%0D 5.250 20.7 20.7 20.7 20.7 25
125 139.70 [1] 300 300 300 300 25
2067 2067 2067 2067
5%0D 5.500 20.7 20.7 20.7 20.7 25
150 159.00[4] 300 300 300 300 25
2067 2067 2067 2067
6%0D 6.250 20.7 20.7 20.7 20.7 2.5
150 165.10 300 300 300 300 25
2067 2067 2067 2067
610D 6.500 20.7 20.7 20.7 20.7 2.5
200 219.10 [3] 300 300 300 300 25
2067 2067 2067 2067
8 8.625 20.7 20.7 20.7 20.7 2.5
* 1058 X405l £ NFPA13
« [1] GB/T 309144, [2]J1S G34524W%F, [3]0.188 "BEJEANE, [4] GB/T2183540%E
4.2 BHHNE
TSR WE H#& Inches IAEES] Psi
wE EF 1-1/4,1-1/2,2,2-1/2,3, 300
R MF 1-1/4,1-1/2,2,2-1/2, 3, 300
R FF 1-1/2,2,2-1/2,3,4 300
g GB/T3092 1,1-1/4,1-1/2,2,30D,3,4,6-1/20D 300
RIEE GB/T3091 1,1-1/4,1-1/2,2,30D,3,4,6-1/20D 300
RIEE GB/T 17395 1,1-1/4,45,1-1/2,57,2,2-1/2,30D 3 ,4-1/4,4,5-1/40D,5-1/20D,5,4-1/40D 6-1/20D,6,8,10,12, 300

« EF_4Bull Moose Tube Co./A il [JEDDY FLow#{4, SC{f5EX4054
« MFWheatland TubeCo.2 i Mega-Flowf{ 5, S f'5EX4197
« FF2AYoungstown TubeCo. ] [ Fire-Flo §445, SC{1-*5EX4197

Y

VISION _EEEEMUMERGERAR | L

= R ARIAE



L iﬁ w ﬂ /e F‘D ?iﬁ

ERESHER 1.0k}

Vision®M{4iEsk
X-Line LIGID

DR HME IEED | B | EimER X Y z al 124 HE
mm mm MPa N mm mm mm mm mm mm kg
65 76.1 2.5 11365 2.6 103 147 48 15 M10x55 0.9
80 88.9 2.5 15510 2.6 116 163 48 15 M10x55 1.0
100 108.0 2i5 22891 2.6 137 187 49 15 M10x60 1.4
100 114.3 2.5 25639 2.6 144 194 49 15 M10x60 1.3
125 133.0 2.5 34715 2.8 166 225 49 23 M12x75 1.8
125 139.7 2.5 38300 2.8 172 230 49 23 M12x75 1.8
150 159.0 2.5 49614 2.6 192 252 49 23 M12x75 2.1
150 165.1 2.5 53494 2.6 196 258 49 23 M12x75 2.2
200 219.1 205 94209 4.9 255 330 61 32 M16x90 4.1

LRI CARH S N TAR T, S K AR T3 54500 R R b R EE 175 £ 1 A S R A 1 SR o B3l w0 2 1 s 1 8
KIAEESS, HIE AU —K .

2.LIGIDE R A RIS, ARREFMEAE REMHIA S, VPSSR R OUE T R 8 A .

3 SO VF A U ) SR B D MRS AR A T A5 A, XSRS KA, PRI A BUE T RESE K. T RO T RIZESERT, 2 BB AZEMIFAE, Xk
BB, 4 T-80mm B LA R4 B F41E50%, % T-100mm K LA 4538 4 A525%.

e

VISION LCEEBNMEEZEEGEERAT | B8R T WX 22215 | 021-5954-6666 | www.visioninc.cn | 1S09001:2008 R & 14 R IAIE
3



	LIGID型资料-20221104_画板 1
	LIGID型资料-20221104-02
	LIGID型资料-20221104-03

